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BSLM5 M5x0.8| 3.5 | 19.5 8 2.9
BSLOT | PT1/8 6 24 12 6.7
BSLO2 | PT1/4 8 30 15 | 11.6
BSLO3 | PT3/8 9 385 | 19 22
BSLO4 | PT1/2 | 10.5 | 46 22 35
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max min
BESLO1 | PT1/8 | 6 405 | 33 12 10
BESLO2 | PT1/4 | 8 425 | 35 14 18.1
BESLO3 | PT3/8 | 9 49 | 415 17 | 311
BESLO4 | PT1/2 | 10.5 | 59.5 52 24 | 69.8
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BSLMM5|M5x0.8| 3.5 | 9.5 8 2.3
BSLMO1 | PT1/8 6 11 12 | 4.3
BSLMO2 | PT1/4 8 135 | 15 | 8.4
BSLMO3 | PT3/8 9 15,5 | 19 | 15.8
BSLMO04 | PT1/2 | 105 | 19 22 | 25.9
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PALOT | PT1/8|16| 7 | 33 | 14 | 4.2
PALMO1 | PT1/8| / [10] 16 | 10 | 0.9
PALO2 | PT1/4 20 |10|625| 17 | 10.7
PALMO2 | PT1/4 |16 | 10| 36 | 14 | 5.1
PALO3 | PT3/8 |26 |12 | 68 | 24 20
PALO4 | PT1/2 |28 | 12| 73 | 24 | 23.1
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